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(X(3rd Sm.)-Economics-GI(GEICC-3)/CBCS)

ECONOMICS — GENERAL

Paper : GE/CC-3

(Issues in Economic Development in India)

Full Marks : 65

Candidates are required to give their answers
as far as practicable.

in their own words
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The figures in the margin indicate full marks.
Group - A
1. Answer any fen questions : 2x10

(a) Mention two reasons for mass poverty in India.
(b) What is human capital?

(¢) Mention two functions of World Trade Organisation (WTO).
(d) What is relative poverty?-

(e) Mention two importances of the education sector in India,

(f) Mention two assumptions of the Lewis Model related to economic development
(g) What is vicious circle of poverty?

(h) Define terms of trade.

(1) Mention two objectives of the formation of Self Help Group.



(3) (X(3rd Sm.)-Economics-GI(GE/CC-3)/CBCS)

() Define dual economy.

(k) State two objectives of GATT.

(I) What is surplus labour?

(m) What is Lorenz curve?

(n) State any two factors that determine economic development of a country.

(0) Mention any two reasons behind high population growth in India.
Group - B
2. Write short notes on any three of the following : 5x3
(a) Human Development Index
(b) Objectives of World Bank
(c) Features of underdevelopment. of India
(d) Unfavourable impacts on India as a member of World Trade Organisation

(e) Measures taken for development of Indian health sector.

‘Group-C S
3. Answer any three questions of the following :
(a) Describe the objectives and functions of International Monetary Fund (IMF). 4+6
(b) Present the concept of Balanced Growth. What are the limitations of this theory? 6+4

- (c) What are the reasons for inequality in the distribution of income in India? Discuss the remedial
measures adopted by the government in this context. ) 4+6

(d) What is Per Capita Income? Discuss whether per capita income can be used as an index of
economic development. 248

(e) Discuss the impact of population growth on economic development of a country. ' 10



